Ei20 5o Aol tg gdo] 50) 7152 e 4
olt}. ggo] 3159 Wo] 83 A ), q, b o ZLL?

AZz() [ 6 [7]8[9] 10 &A
=% 2lal|8]4] b 20

@D a=1b=5 @ a=2 b=4 @ a=3b=2
()a:&b:Q ® a=5b=1

B \
AA S 71 20 HO|B2 24+ a+8+4+b=20
“a+b=6---Q
T3t Potol 8 3 o|B R
6X2+T7TXa+8x8+9%x4+10xb

50 =38,
12 4 7a + 64 4 36 4 106 = 160
S Ta+10b=48---©
Q, 0= dHsto] EHa=4, b=2
a=4,b=2




oh& 2™ Zo] Zo] 6em Q1 Fol HO|ZE AC & H= Hog

- =

stod 9ot LABC = 30° 2 o, AABC 2] Ho]& JLotolaf.

A_________
! l
6cm o I
| 300\ ________ I
<E/C
= cm?

>
> HE: 36 cm?

AC & At Moz o] Fglonz

(DAC = /BAC
(DAC = /ACB( 947})
. AB=BC

A A oA BC of I 4+41] &2 H 2t 5HH

AH = 6(cm) , AB =2AH = 12( cm)
- BC =12(cm)

w2bd AABC 2] Yol %xB X
oft}.

]
=
I
|
X
[y
[\
X
(=2]
I
(%)
22
Q
=
=




D y=3c+4v3 @ y=V3x+4
© y=3vx+4 @ y= V3x+4V3
@)y = VEx+6V3+4




te 2" H P = & @ AB, CD
o] Yol 5.0ptBC = 7em, LACD =
25°, /BPC = 65° & o, o] ¥2] &9
ZolE Fstofat.

>
> HE . 315 cm

~&B

AACli_O\ﬂk] /CAB =65°—-25°=40°

5.0ptBC2] YF7to] 40°0| B2 FA] 72 gp o]t}

80°:360° = 7: (9F)

aimn 360°x7
L (EF) = —80°

®©

= 31.5 (cm)




5.

th 2T Zro] 9o = & AB,CD o ZHS Pt & o, AP =
15cm , AC = 17cm , 2CPB = 90° ©o|t}. BD 9] Zo]& sloiz}.

17cm C
Ag=m" h
15cm | P
[ )
D
> = cm
> me: 200
BC & 1°odW
ACAP = ACBP

/CBD =90° 0|22
/CAP = /CBP = /BDP °o|B&2
ACAP ¢ ABDP (AA H)
AC:DB =CP: BP
17:x=8:15

255
sox=—/{cm)

8




e agelA AQ £
olt}. AP =5, BQ—G
PQ o dolg Fatele

vV V¥
02

o

3

O

Il

W

(PBQ = /PAC, (PBQ = /BAQ °|2
Al B, Q PE3gY 9o 91 BQ % & Fullint=

BQ = QPxQA
62 =x(x+5), x=4,-9, . x=4("x>0)




